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(P6 ,  )-free  G:= 

Claim : G2 is P6-free  

Suppose that G contains an EDS, say D



(P6 ,  )-free  G:= 

Assume the contrary that G2 contains an induced P6  

V1 V2 V3 V4 V5 V6 



(P6 ,  )-free  G:= 

Assume the contrary that G2 contains an induced P6  

V1 V2 V3 V4 V5 V6

 
distG(v1, v2 distG(v2, v3) 2,     distG(v3, v4)  
 
               distG(v4, v5) 2,     distG(v5, v6)  

  



(P6 ,  )-free  G:= 

V1 V2 V3 V4 V5 V6 

distG(v1, v3)  3,     distG(v1, v4)  3,     distG(v1, v5)  3  
 
distG(v1, v6)  3,     distG(v2, v4)  3,      distG(v2, v5)  3  
 
distG(v2, v6)  3,     distG(v3, v5)  3,      distG(v3, v6)  3 
 
distG(v4, v6)  3 

  



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6

distG(v4, v6) 3

d 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6

distG(v4, v6) 3

d 

Case 1.1:  distG(v3, v4) = 1



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6
d 

Case 1.1:  distG(v3, v4) = 1

distG(v2, v4)  3 

x 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6
d 

Case 1.1:  distG(v3, v4) = 1

x 

a contradiction 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6
d 

Case 1.1:  distG(v3, v4) = 1

x 

a contradiction 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6
d 

Case 1.2:  distG(v3, v4) = 2

c 

Then cd E 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6
d 

Case 1.2:  distG(v3, v4) = 2

c 

Then cd E 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6
d 

Case 1.2:  distG(v3, v4) = 2

c 

Then cd E 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6 
d

Case 1.2:  distG(v3, v4) = 2

c ba



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6 
d

Case 1.2:  distG(v3, v4) = 2

c ba

Partial Structure of G



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6 
d

Case 1.2:  distG(v3, v4) = 2

c ba

Claim 1: a, v2, b D



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6 
d

Case 1.2:  distG(v3, v4) = 2

c ba

Claim 1: a, v2, b D

Assume the contrary 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6 
d

Case 1.2:  distG(v3, v4) = 2

c ba

Suppose a D

Then  b, v3 , c  D 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6 
d

Case 1.2:  distG(v3, v4) = 2

c ba

V3  



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6 
d

Case 1.2:  distG(v3, v4) = 2

c ba

V3  



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 
V2 V3 V4 V5 V6 

d

Case 1.2:  distG(v3, v4) = 2

c ba

So, a, v2, b D 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 
V2 V3 V4 V5 V6 

d

Case 1.2:  distG(v3, v4) = 2

c ba

V2  



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 
V2 V3 V4 V5 V6 

d

Case 1.2:  distG(v3, v4) = 2

c ba

V2  Then:  v2 2  E



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 
V2 V3 V4 V5 V6 

d

Case 1.2:  distG(v3, v4) = 2

c ba

V2  Then:  v2 2  E

Assume the contrary 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 
V2 V3 V4 V5 V6 

d

Case 1.2:  distG(v3, v4) = 2

c ba

V2  Suppose  v2  E 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 
V2 V3 V4 V5 V6 

d

Case 1.2:  distG(v3, v4) = 2

c ba

V2  Suppose  v2  E 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 
V2 V3 

V4 V5 V6 
d

Case 1.2:  distG(v3, v4) = 2

c ba

V2  Suppose  v2  E 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 
V2 V3 V4 V5 V6 

d

Case 1.2:  distG(v3, v4) = 2

c ba

V2  

So,  v2 2 E



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 
V2 V3 V4 V5 V6 

d

Case 1.2:  distG(v3, v4) = 2

c ba

V2  
Then  v1  D 



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6 
d

Case 1.2:  distG(v3, v4) = 2

c ba

V2  V1  

Claim 2: v1 v2



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 V4 V5 V6 
d

Case 1.2:  distG(v3, v4) = 2

c ba

V2  V1  

a contradiction



(P6 ,  )-free  G:= 

Case 1:  distG(v5, v6) = 1 

V1 V2 V3 

V4 V5 V6 
d 

Case 1.2:  distG(v3, v4) = 2

c ba

V2  V1  

a contradiction 



(P6 ,  )-free  G:= 

Case 2: distG(v1, v2) = 2 = distG(v5, v6) 

V1 V2 V3 V4 V5 V6 



(P6 ,  )-free G:= 

Claim : G2 is banner-free  

Suppose that G contains an EDS, say D



(P6 ,  )-free  G:= 

Assume the contrary that G2 contains an induced banner  

V1

V2 

V3 V5

V4 



(P6 ,  )-free  G:= 

 
distG(v1, v2 distG(v2, v3) 2,     distG(v3, v4)  
 
               distG(v1, v4) 2,     distG(v3, v5)   

  

Assume the contrary that G2 contains an induced banner  

V1

V2 

V3 V5

V4 



(P6 ,  )-free  G:= 

Assume the contrary that G2 contains an induced banner  

V1

V2 

V3 V5

V4 

distG(v1, v3)  3,     distG(v1, v5)  3,     distG(v2, v4)  3  
 
                distG(v2, v5)  3,     distG(v4, v5)  3 



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

 distG(v2, v5)  3,     distG(v4, v5) 3 

distG(v2, v3) =  2,     distG(v4, v3) = 2



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

 distG(v2, v3) =  2,     distG(v4, v3) = 2 

b 

a 



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a 

 distG(v2, v4)  3 

 distG(v1, v4) =  2 or  distG(v1, v2) = 2 or both 



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a 

 distG(v2, v4)  3 

 distG(v1, v4) =  2 =  distG(v1, v2) 



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a c 

d 



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a c 

 Partial structure of G 

d 



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a c 

 Claim 1: v2, v4, a, b, c, d D 

d 

Assume the contrary 



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a c 

 Suppose  v2 D 

d 



(P6 ,  )-free  G:= 

V1 

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a c 

 Suppose  v2 D 

d 

V1



(P6 ,  )-free  G:= 

V1 

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a c 

 Suppose  v2 D 

d 

V1



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a c 

d 



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a c 

d 

V4  

V2  

 v2  v4  



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a c 

d 

V4  

V2  

Then v2 4 E 



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a c 

d 

V4  

V2  



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a c 

d 

V4  

V2  



(P6 ,  )-free  G:= 

V1 

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a c 

d 

V4  

V2  

 v1   v2 v4

V1



(P6 ,  )-free  G:= 

V1 

V2 

V3 V5

V4 

Case 1:  distG(v3, v5) = 1 

b 

a c 

d 

V4  

V2  

 v1   v2 v4

V1



(P6 ,  )-free  G:= 

V1

V2 

V3 V5

V4 

Case 2:  distG(v3, v5) = 2 
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